Oficina d’Accés a la Universitat

PAU 2015
Criteris de correccio6

Seérie 2

Primera part

Exercici 1
Q1 a Q2 d Q3 a Q4 a Q5 c
Exercici 2
Xop=—=—= L =31,830
a) X1 = wC,  2mfC;  2m50-100-1076 '
A, = Vi 230

= = -=114A
\/R§+X(2:1 V2002+31,83

b) X, = wL, = 2nfL, = 2150 - 100 - 1073 = 31,42 O

V. 230
Ap=—2—=—22__=219A
\/R§+sz J1002+31,42

c) W =R;A? + R,A3 =200-1,14% + 100 - 2,19% = 739,53 W
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OPCIO A
Exercici 3

a) A =\/§= /%= 1,91 A

b) §= c;(p = % = 439,76 VA; Q = Ssing = 439,76,/1 — 0,832 = 245,28 var

v, = Q _24528 128,42V

7aA T o 191 0 Y

c) A, = % = 2‘;?58 =1,07A
Exercici 4

_ L_ -6 15
a) RConductor - ,DE =0,01786-10 . 2510-6 107,16 mQ
Uz 502
RCalefactor = K = 1000 =250
I = v = 30 = 11,052 A
RCalefactor + 2RConductor 2,5 + 2 0,10716 ’
U 2R Il 2-0,10716-11,052
cdtcape(%) = 100 —22 = 100% =100 0 =7,9%

b) Pcalefactor = RCalefactorI2 =25- 11'0522 =3054W

c) Calibre de 16 A

U 30

d I = =
) ce 2Rconductor 2:0,10716

=140 A
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OPCIO B

Exercici 3

P 250
a) n(%) = 100m = 100@ =86,81%

b) r=2=-2% =0,7148 Nm
w 334 0
P 250
) E=-=22=4167V RI=U—-E =48 —41,67 = 6,33V
E'=U—RI=37-633=3067V
L 3340 30,67 _ 2458,3 min~!
nEMES 4167 2 i

Exercici 4
a.) 12 = 0 d PRZ = OW

I3=Z—Z=1—§=1,ZA > Pps=RsI2=10-122=144W

_UitUp 212,

- Pri=RiIf=1-22=4W
17747 R+r, ~ 1+5

Pra = R412=5-22=20W
b) Pyy=Ul; =24-2=48W
PUZ = Uzls = U2(13_I4_) = 12'(1,2_2) = _9,6W

) I3=Z—§=%=1,2A

I =1,=8"0%_2"12_ 571
17727 Rpi+R, ~ 1420 ’

Py, = Uyl = 24-0,571 = 13,7 W

PUZ = U215 = U2(13 - 12) = 12 . (1,2 - 0,571) = 7,55 W
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SERIE 4

Primera part

Exercici 1
Ql b Q2c Q3 d Q4 d Q5 a
Exercici 2
U 10
a) 11 = R LRIZR3 = 5L15‘10 = 0,9091A
17Ry+R3 "15+10
b) 13 — Ui—R1 11 — 10-5-0,9091 _ 0’5455 A
R3 10
— 2 _c. 2
C) Pg, = Uy ;1 L)? _ (10 5&9091) —1984W
2
d) Py, =U1 I, = U, Bl — 90 28— 10w
R, 5
p —p 4p. —p —WiZU? UE_ (107152 157 Lo ooy
e) UZ_ R1+ R3_ Ul_ R1 +R_3_ Ul_ 5 +1_0+ - ]
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OPCIO A
Exercici 3
a) p=2
by =28 =_22%_ _ 1449Nm
WN 14505
c) P =+3UyIycospy =+3-400-4,7-0,78 = 2540 W
Alternativament,

P=+3UyIycospy =+3-690-2,71-0,78 = 2526 W
_ PN _ 2200 _
d) n(%)_— 100 —* =100 -~ = 86,61 %
Alternativament,
_ PN _ 2200 _
n(%) = 100 =t = 100 ~— = 87,09 %

e) So =V3UyIly=+3-400-4=2771VA

Exercici 4

2
UNomLamp __ 230% 2645 QO
20 PNomLamp  20-100 !

a) REq. 20 Lamp =

l _ 200
Rinia = p 5=16,8-10 K 510 = 2,24 Q
I=2= d =20 _7436A
R 2 RriatREq. 20 Lamp 2:2,24+26,45
b) AU(%) =100 Ulnici linia—UFinal linia =100 2 Ryinia ! =100 2:2,24-7,436 — 14,48 %
U U 230
1 7,436

€) Pramp = Uramp ILamp = UFinallimia 55 = (230 —2-2,24-7,436) ——==73,13 W
d) Iec=—=-o-=5134A

2 Rinia 22,24
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OoPCIO B
Exercici 3
R 60
a)11:A1:6A 4 13:R2+2R3 1:m6:4‘,5A

Pg, =R3 15 = 20-4,5% = 405W

b) P=R,I?+W =10 6%+ 540 = 900 W

g u=2=2=150v
1 6
Exercici 4
a)r=2=2% _3624Nm
w 33%
b) E=2=8%0_3554y;, R =LE=2203%1_ (53410
1 121 121

C) E' = U’ —R; ;=400 - 0,5341 = = 367,7 V

_n B 1133 367,7 _ 1172 min~?
nELMES 3554 in



